
Challenge: 
Why has this answer been marked as incorrect?
Ronnie has two tubs of sweets. One tub contains 1234. The second tub contains another 1764. After he has been trick or treating, he adds all of the sweets from his bucket. He says that he collected 323 sweets whilst out. How many has he got in total?








2 four digit numbers are added together to make the answer 5728.
Can you find what the two numbers are? 

The top number in the thousands column is even.
The bottom number in the thousands column is odd. 
The top number in the hundreds column is odd.
The bottom number in the hundreds column is even. 
The numbers in the tens column are the same. 
Both numbers in the ones column are odd.















Lenny thinks of two numbers to make the answer of 4756. 

Can you think of two numbers that would make this total?
Tia has answered this question. Has she got the correct answer? 
2315 +
1089
________
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